Reading # 5     

Causation

Velazquez v. State — 

1. Crimes can be divided into two categories: conduct crimes and result crimes. Based on this opinion (2nd paragraph), what would you say is the key destinguishing feature of a “result crime”?

2. Suppose a defendant is charged with a result crime. What does the court say the prosecutor must show with respect to causation in order to make out a case for criminal liability?

3. What does the court call the test that courts have “uniformly followed” to determine whether the defendant’s conduct was a cause-in-fact of the prohibited result? What is that test”

4. The court also mentions another test of “cause-in-fact that courts use in “relatively rare cases.” What is this other test called? When does it apply?

Oxendine v. State 

1. What was the crime that D was convicted of?

2. What did D actually do?

3. What rulings of the trial court did D contend were reversible error?

4. If D did not cause his son’s death, who did?

5. Who did the state call as expert witnesses to testify on the issue of causation? What, in summary, did they say?

6. When did D move for a judgment of acquittal? Was this before or after the rebuttal case by his co-defendant, Tyree?

7. What did Tyree’s expert witness have to say on the question of whether Ds conduct accelerated the child’s death?

8. So, by the end of the trial, was there evidence before the jury that D had accelerated the child’s death? So, why did the court reverse D’s conviction for manslaughter?

9. Have answers to the questions in note 2 following the Oxendine case.

Proximate Cause

Note: Questions of “proximate cause” generally arise when there are one or more intervening causes in the chain of causation between D’s act and the harm. If the intervening causes are deemed to be “superseding causes,” they become the proximate causes, and D’s conduct is not the proximate cause. If the intervening causes are not deemed “superseding causes,” then D’s conduct is the proximate cause. 

For example, D was being pursued by a police helicopter when a second police helicopter was negligently flown into the first one, killing all on board. Is D guilty of homicide in their deaths? Answer: No if the intervening cause (negligent flying) is deemed to superseding cause. Yes, if it is not deemed to be a superseding cause.  

Thus, the key question in the law of proximate causation is: What does it take to make an intervening cause count as a superseding cause?

Carefully notice the terminology and usage in the above two paragraphs, especially the words:





( proximate cause





( intervening cause





( superseding cause

Note carefully that an intervening cause is not necessarily a superseding cause, and note also how many times the letter “s” appears in the word “superseding.”
Velazquez v. State (answer the questions for this case before doing Rideout, which follows) 

1. What was the crime that D was convicted of?

2. Was D’s conduct a cause-in-fact of his friend’s death? What did D do that made him a cause-in-fact?

3. In order to get a conviction, was it sufficient for the state to prove that D was a cause-in-fact of his friend’s death? What more (if anything) needed to be proved on the issue of causation?

4. Was D’s conduct the proximate cause of his friend’s death? Why?

5. The court discusses the case of J.A.C. v. State as authority for its holding. What were the key facts of J.A.C.?

6. What reason did the court in J.A.C. give for concluding it would be “unjust” to hold D (the driver) criminally responsible for the passenger’s death?

Now answer the questions for Rideout.

People v. Rideout — 
1. What was the crime that D was convicted of?

[“operating a vehicle while intoxicated or visibly impaired and “thereby” causing death.”]

2. List the three elements of this offense.

[ ( operating a motor vehicle (“driving”)

  ( being intoxicated or visibly impaired while operating

  ( causing death]

3. According to the statute, which of the first two elements has to cause death, the first one, the second, or both? For example, suppose D is driving while intoxicated and V runs a red light, crashes into D’s car and is killed in the crash. In other words, D’s intoxication was not a bit-for cause of the crash. It would have occurred whether D was intoxicated or not, though it would not, of course, have happened had D no been driving at all.

4. What did D actually do in violation of the statute that constituted a but-for cause of the death? 

5. What were the two grounds that D argued for overturning his conviction?

6. What does the court say is the “linchpin” of superseding cause analysis?

7. At the top of 242, the court discusses applicability of the “foreseeability factor.” It draws a distinction between “responsive” intervening causes and merely “coincidental” intervening causes. What’s the difference?

8. Suppose Don recklessly knocks Vicky off her bicycle and Vicky goes to the emergency room where a doctor negligently causes her death. Is Don’s conduct the proximate cause of Vicky’s death (because the doctor’s actions were responsive)?  Or is Don’s conduct not the proximate cause because the doctor’s actions were coincidental and not foreseeable? 

9. Now suppose that, while Vicky was waiting at the emergency room, she was attacked by a homicidal maniac who happens to also be there. Is Don’s conduct the proximate cause of that?

10. Suppose late one evening, after dark, night Don gets angry with Victor, who is highly intoxicated, and makes Victor get out of the car on a busy freeway. Victor stumbles onto the roadway and is killed is by a passing truck. Is the truck driver’s conduct a but-for cause of Victor’s death? It is responsive or coincidental? Is it foreseeable? So, is Don’s conduct the proximate cause of Victor’s death?

11. What conduct of the victim in Rideout was an intervening cause of his being hit and killed? Was it responsive or coincidental? How about the conduct of Tonya Welch: was it responsive or coincidental? Was it foreseeable?

So, the court says, the foreseeability factor is of “little value” in the analysis.

12. What were the two remaining factors that the court considered? How do they apply?

13. Was State v. Preslar (noted in Rideout) correctly decided in light of these last two factors? 

State v. Rose —

1. What was the crime that D was convicted of?

2. What did D actually do that allegedly constituted the crime?

3, According to the instructions to the jury, was there evidence of culpable negligence on the part of D before he hit the decedent with his car?

4. According to the instructions to the jury, what facts would the jury have to find in order to convict?

5. What, in essence, did D argue in his defense, based upon the evidence?
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